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10)  Question:   In the functio n   𝑓(𝑥) = 𝑏𝑥2 + 15  ,  “𝑏”  is a co nstant.  If  “𝑓(3) = 33” , find the value of 𝑓(5) . 

10) Question:   In the function   𝑓(𝑥) = 𝑏𝑥2 + 15 ,  “𝑏” is a constant.  If  “𝑓(3) = 33”, find the value of 𝑓(5). 
A) 65  changed 
B) 70 
C) 75 
D) 80 
 
For speed, while solving something similar, only THINK the words in blue; WRITE only the words in other COLORS. 
 
Solution: 
Given  1)  𝑓(𝑥) = 𝑏𝑥2 + 15 
     2)  𝑓(3) = 33 
Find     𝑓(5) =? 
 
Road Map of Solution: 
First,   Using the given statements, 1 & 2, find  the value of “𝑏”. 
Second,  To find the value of 𝑓(5);  substitute   the value of “𝑏” and “𝑥 = 5” in the given first statement.  
 
Given  
1st statement  𝑓(𝑥)   =   𝑏𝑥2 + 15     . . . . . . . . . . . . . . . . . . . . . . .   equation # 1 
2nd statement  𝑓(3)   =   33        . . . . . . . . . . . . . . . . . . . . . . .   equation # 2 
 
Solving eq # 1 for “𝑥 = 3”, we get 
         𝑓(𝑥)   =   𝑏𝑥2 + 15 
        𝑓(𝑥)   =   𝑏(𝑥)2 + 15 
        𝑓(3)   =   𝑏(3)2 + 15 
        𝑓(3)   =   𝑏(9)   + 15 
Substituting   𝑓(3)   =   33   in the equation above, we get, 
            33  =   𝑏(9)   + 15 
     −15 + {  33} = { 𝑏(9)   + 15} − 15 
     −15 +     33  =   𝑏(9)   + 15  − 15 
         18  =   𝑏(9)       . . . . . . . . . . . . . . . . . . . . . . .   equation # 3 
 

Multiplying both sides of the equation # 3 with 
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      (1) × {   2} = {𝑏(1)} × (1)   
         {   2} = {𝑏}   
           2  =   𝑏         . . . . . . . . . . . . . . . . . . . . . . .   equation # 3c 
 
From eq#s 1 & 3c, we get, 
         𝑓(𝑥)   =   𝑏𝑥2 + 15 
        𝑓(𝑥)   =   (𝑏)(𝑥)2 + 15 
        𝑓(5)   =   (2)(5)2 + 15 
        𝑓(5)   =   (2)(25) + 15 
        𝑓(5)   =           50  + 15 

        𝑓(5)   =           65      . . . . . . . . . . . . . . . . . . . . . . .   Answer (A) 
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